1 L ltem No: DESC#78T
Parker House DESC#78B

Assembly Instruction

Description: 78 in. Bar Top/ 78 in. Bar Base

PARTS LIST:

"

@

Bar Top: 1PC

Bar Base: 1PC

® »

R

Side Hanging Brackets :2pcs

g
7%%%%

Front Hanging Brackets :1pc

/IV}
’ 77

(5) HARDWARE LIST OF DESC#78T

NO. | DRAWING

DESCRIPTION

Flat Washer 85/16" x 19*2mm | 10Pcs

Spring Washer ¢5/16" 10Pcs

Bolt 5/16" x 2" 10Pcs

Open Wrench $5/16" 1Pc

Wood Dowel $10x40mm 2Pcs

Touch Pen 1Pc

A

B

C

D

E

F

@ HARDWARE LIST OF DESC#78B
NO.

DRAWING DESCRIPTION

m Bolt 81/4" x 3/4" 32Pcs
H N Screw Nuts $1/4" x 3/4" 8Pcs
| &—— | Allen Key 4mm 2Pcs

Page 1 of 2




Assembly Instruction

£ o
~
1t
A 3
Wl 1]
ala)
¥
Z
&
Q

Description: 78 in. Bar Top/ 78 in. Bar Base

DarkerHouse

Page 2 of 2



	DESC.- DINING ROOM Model (1)
	DESC.- DINING ROOM Model (1)

